
■ 次のわり算をしましょう。

① 684 ÷ 9 ＝ ⑬ 294 ÷ 6 ＝

② 518 ÷ 7 ＝ ⑭ 52 ÷ 2 ＝

③ 230 ÷ 5 ＝ ⑮ 146 ÷ 2 ＝

④ 552 ÷ 6 ＝ ⑯ 141 ÷ 3 ＝

⑤ 84 ÷ 2 ＝ ⑰ 455 ÷ 7 ＝

⑥ 435 ÷ 5 ＝ ⑱ 119 ÷ 7 ＝

⑦ 680 ÷ 8 ＝ ⑲ 39 ÷ 3 ＝

⑧ 272 ÷ 4 ＝ ⑳ 234 ÷ 3 ＝

⑨ 132 ÷ 6 ＝ ㉑ 576 ÷ 9 ＝

⑩ 396 ÷ 4 ＝ ㉒ 351 ÷ 9 ＝

⑪ 424 ÷ 8 ＝ ㉓ 112 ÷ 8 ＝

⑫ 72 ÷ 4 ＝ ㉔ 125 ÷ 5 ＝
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■ 次のわり算をしましょう。

① 684 ÷ 9 ＝ 76 ⑬ 294 ÷ 6 ＝ 49

② 518 ÷ 7 ＝ 74 ⑭ 52 ÷ 2 ＝ 26

③ 230 ÷ 5 ＝ 46 ⑮ 146 ÷ 2 ＝ 73

④ 552 ÷ 6 ＝ 92 ⑯ 141 ÷ 3 ＝ 47

⑤ 84 ÷ 2 ＝ 42 ⑰ 455 ÷ 7 ＝ 65

⑥ 435 ÷ 5 ＝ 87 ⑱ 119 ÷ 7 ＝ 17

⑦ 680 ÷ 8 ＝ 85 ⑲ 39 ÷ 3 ＝ 13

⑧ 272 ÷ 4 ＝ 68 ⑳ 234 ÷ 3 ＝ 78

⑨ 132 ÷ 6 ＝ 22 ㉑ 576 ÷ 9 ＝ 64

⑩ 396 ÷ 4 ＝ 99 ㉒ 351 ÷ 9 ＝ 39

⑪ 424 ÷ 8 ＝ 53 ㉓ 112 ÷ 8 ＝ 14

⑫ 72 ÷ 4 ＝ 18 ㉔ 125 ÷ 5 ＝ 25
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